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Nom: Date: Note:
702 = 18+6= 6+6= 64 +4= 99 +9 =
48 2 = 6+3= 72+2= 762 = 12+6=
88+ 8= 30+2= 8+2= 52+4= 24+3=
75+3= 84+6= 62+2= 16 +2= 21 +7=
54+2= 96 + 8 = 2+2= 42 +7= 30+6=
94 +2= 14+7= 30+-5= 6+3= 242 =
40+ 8 = 64+2= 45+9 = 90 +2= 76 +4 =
86+2 = 40 +4 = 60+3= 88+2= 54+6=
84+2= 81 +3= 564 = 45+9= 72+9=
T2+3= 15+3= 36+2= 25+5= 15+5=
70+7= 36+3= 12+2= 84+3 = 40+5=
2+2= 87+3= 60+ 6= 36+2= 18+2=
12+6= 72+3= 9 +2= 90 + 5= 63+9=
92 +4= 20+2= 72+6= 6+6= 56 +4 =
39+3= 54+3= 68 +2= 69+3= 56 +7=
5+5= 72+ 8= 12+6= 72+4= 75+3=
48 + 6= 62+2= 36+2= 93+3= 48 + 8 =
6+2= 42 +7= 90 +2= 63+9= 90+ 5=
28+7= 718 +2= 80+5= 99 +9= 54+2=
25+5= 4+4= 26+2= 72+8= 10+5=
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